name	date	period

Shopping

Version 1

Sangita went to Megamart and bought four CDs for \$14.99 each, a DVD for \$14.32 and five beach towels for \$10.92 each. How much did Sangita spend?

Item	Number	Price	Subtotal
CDs			
DVDs			
beach towels			
		Total	

name		date	period
(	<b>~1</b> •		

Shopping

Version 2

Gupta went to Megamart and bought eight CDs for \$14.27 each, a box of cookies for \$3.31 and a paperback book for \$7.17. How much did Gupta spend?

Item	Number	Price	Subtotal
CDs			
boxes of cookies			
paperback books			
		Total	

name		date		period
	1		1	

Shopping

Version 3

Gupta went to Megamart and bought a beach towel for \$16.96, three CDs for \$16.83 each and six DVDs for \$16.41 each. How much did Gupta spend?

Item	Number	Price	Subtotal
beach towels			
CDs			
DVDs			
		Total	

name	date	period
Batch 51c1ca3e	Shopping	Version 4

Jane went to Megamart and bought three bags of chips for \$9.19 each, six comic books for \$3.01 each and a paperback book for \$7.87. How much did Jane spend?

Item	Number	Price	Subtotal
bags of chips			
comic books			
paperback books			
		Total	

name date period		Chopping	
	name	date	period

Shopping

Version 5

Denji went to Megamart and bought six paperback books for \$5.89 each, a 2 liter bottle of soda for \$1.78 and three comic books for \$3.59 each. How much did Denji spend?

Item	Number	Price	Subtotal
paperback books			
2 liter bottles of soda			
comic books			
		Total	

		Thornin		 	
n	ame	d	late	period	
					I

Shopping

Version 6

Sangita went to Megamart and bought five cupcakes for \$1.26 each, a paperback book for \$6.51 and four beach towels for \$17.81 each. How much did Sangita spend?

Item	Number	Price	Subtotal
cupcakes			
paperback books			
beach towels			
		Total	

	name	date	period	
1				

Shopping

Version 7

Kagome went to Megamart and bought seven frisbees for \$9.02 each, two paperback books for \$7.42 each and a bottle of suntan lotions for \$8.39. How much did Kagome spend?

Item	Number	Price	Subtotal
frisbees			
paperback books			
bottles of suntan lotions			
		Total	

name		date	period
C	·		

Shopping

Version 8

Alice went to Megamart and bought a comic book for \$3.60, six 2 liter bottles of soda for \$1.19 each and three paperback books for \$6.19 each. How much did Alice spend?

Item	Number	Price	Subtotal
comic books			
2 liter bottles of soda			
paperback books			
		Total	

name		date	period
	~1 .		

Shopping

Version 9

Kagome went to Megamart and bought a cupcake for \$1.03, three DVDs for \$14.34 each and six bags of chips for \$9.60 each. How much did Kagome spend?

Item	Number	Price	Subtotal
cupcakes			
DVDs			
bags of chips			
Total			

name	date	period
	Shopping	

Shopping

Version 10

Alice went to Megamart and bought four cans of spray paint for \$4.57 each, five beach towels for \$10.04 each and a DVD for \$10.17. How much did Alice spend?

Item	Number	Price	Subtotal
cans of spray paint			
beach towels			
DVDs			
		Total	

	l'honnin <i>m</i>		-
name	date	Derio	d

Shopping

Version 11

Gupta went to Megamart and bought five bags of chips for \$9.04 each, two cans of spray paint for \$7.39 each and three cupcakes for \$1.30 each. How much did Gupta spend?

Item	Number	Price	Subtotal
bags of chips			
cans of spray paint			
cupcakes			
		Total	

name	date	period
Batch 51c1ca3e	Shopping	Version 12

Alice went to Megamart and bought five bottles of suntan lotions for \$8.00 each, two CDs for \$13.74 each and three paperback books for \$6.15 each. How much did Alice spend?

Item	Number	Price	Subtotal
bottles of suntan lotions			
CDs			
paperback books			
		Total	

name	date	period

Shopping

Version 13

Maria went to Megamart and bought six cupcakes for \$1.01 each, three DVDs for \$16.40 each and a beach towel for \$11.18. How much did Maria spend?

Item	Number	Price	Subtotal
cupcakes			
DVDs			
beach towels			
		Total	

name	date	period

Shopping

Version 14

Carol went to Megamart and bought four paperback books for \$8.99 each, a DVD for \$16.08 and five bags of chips for \$9.65 each. How much did Carol spend?

Item	Number	Price	Subtotal
paperback books			
DVDs			
bags of chips			
		Total	

name	date	period
Batch 51c1ca3e	Shopping	Version 15

Carlos went to Megamart and bought five DVDs for \$10.28 each, two beach towels for \$11.34 each and three cupcakes for \$1.42 each. How much did Carlos spend?

Item	Number	Price	Subtotal
DVDs			
beach towels			
cupcakes			
		Total	

name		date	period
	• 1		

Shopping

Version 16

Bob went to Megamart and bought three boxes of cookies for \$5.70 each, three paperback books for \$6.04 each and four cupcakes for \$1.28 each. How much did Bob spend?

Item	Number	Price	Subtotal
boxes of cookies			
paperback books			
cupcakes			
		Total	

name	date	period
Batch 51c1ca3e	Shopping	Version 17

Sangita went to Megamart and bought seven bags of chips for \$9.17 each, a frisbee for \$7.42 and two cans of spray paint for \$5.48 each. How much did Sangita spend?

Item	Number	Price	Subtotal
bags of chips			
frisbees			
cans of spray paint			
		Total	

name	date	period

Shopping

Version 18

Gupta went to Megamart and bought eight bags of chips for \$9.58 each, a paperback book for \$6.79 and a comic book for \$3.03. How much did Gupta spend?

Item	Number	Price	Subtotal
bags of chips			
paperback books			
comic books			
		Total	

name		date	period	
	$Cl_{2}$	~		

Shopping

Version 19

Gupta went to Megamart and bought six cupcakes for \$1.58 each, two DVDs for \$16.46 each and two boxes of cookies for \$3.51 each. How much did Gupta spend?

Item	Number	Price	Subtotal
cupcakes			
DVDs			
boxes of cookies			
		Total	

name	date	period

Shopping

Version 20

Jane went to Megamart and bought a comic book for \$3.70, four 2 liter bottles of soda for \$1.53 each and five boxes of cookies for \$5.00 each. How much did Jane spend?

Item	Number	Price	Subtotal
comic books			
2 liter bottles of soda			
boxes of cookies			
		Total	

name		date	period
	• 1		

Shopping

Version 21

Ted went to Megamart and bought five comic books for \$3.32 each, a frisbee for \$8.57 and four cupcakes for \$1.25 each. How much did Ted spend?

Item	Number	Price	Subtotal
comic books			
frisbees			
cupcakes			
		Total	

name	date	period
Batch 51c1ca3e	Shopping	Version 22

Sangita went to Megamart and bought four 2 liter bottles of soda for \$1.88 each, a paperback book for \$8.09 and five bottles of suntan lotions for \$7.03 each. How much did Sangita spend?

Item	Number	Price	Subtotal
2 liter bottles of soda			
paperback books			
bottles of suntan lotions			
		Total	

name	date	period

Shopping

Version 23

Ted went to Megamart and bought a cupcake for \$1.64, a frisbee for \$7.06 and eight 2 liter bottles of soda for \$1.60 each. How much did Ted spend?

Item	Number	Price	Subtotal
cupcakes			
frisbees			
2 liter bottles of soda			
		Total	

name		date	period
C	• 11		

Shopping

Version 24

Maria went to Megamart and bought seven bottles of suntan lotions for \$8.57 each, two cupcakes for \$1.37 each and a frisbee for \$8.28. How much did Maria spend?

Item	Number	Price	Subtotal
bottles of suntan lotions			
cupcakes			
frisbees			
		Total	

name	date	period
Batch 51c1ca3e	Shopping	Version 25

Carlos went to Megamart and bought two bags of chips for \$9.95 each, four paperback books for \$6.37 each and four boxes of cookies for \$4.40 each. How much did Carlos spend?

Item	Number	Price	Subtotal
bags of chips			
paperback books			
boxes of cookies			

Batch 51c1ca3e	Shoppin	g	1
Version 1	Version 2	Version 3	Version 4
4 14.99 59.96	8 14.27 114.16	1 16.96 16.96	3 9.19 27.57
1 14.32 14.32	1 3.31 3.31	3 16.83 50.49	6 3.01 18.06
5 10.92 54.60	1 7.17 7.17	6  16.41  98.46	1 7.87 7.87
128.88	124.64	165.91	53.50
Version 5	Version 6	Version 7	Version 8
6 5.89 35.34	5 1.26 6.30	7  9.02  63.14	1 3.60 3.60
1 1.78 1.78	1  6.51  6.51	2  7.42  14.84	6 1.19 7.14
3 3.59 10.77	4 17.81 71.24	1 8.39 8.39	3 6.19 18.57
47.89	84.05	86.37	29.31
Version 9	Version 10	Version 11	Version 12
1 1.03 1.03	4 4.57 18.28	5 9.04 45.20	$\boxed{5 \ 8.00 \ 40.00}$
$\begin{vmatrix} 1 & 1.03 & 1.03 \\ 3 & 14.34 & 43.02 \end{vmatrix}$	5 10.04 50.20	$ \begin{array}{ccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$
$\begin{bmatrix} 3 & 14.54 & 45.02 \\ 6 & 9.60 & 57.60 \end{bmatrix}$	1 10.17 10.17	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	$\begin{array}{cccccccccccccccccccccccccccccccccccc$
101.65	78.65	63.88	85.93
Version 13	Version 14	Version 15	Version 16
6 1.01 6.06	4 8.99 35.96	5 10.28 51.40	3 5.70 17.10
3 16.40 49.20	1  16.08  16.08	2 11.34 22.68	3 6.04 18.12
1 11.18 11.18	5  9.65  48.25	3 1.42 4.26	4 1.28 5.12
66.44	100.29	78.34	40.34
Version 17 Ve	rsion 18 Version 1	9 Version 20	Version 21
7 9.17 64.19 8	9.58 76.64 6 1.58	9.48 1 3.70 3.70	5 3.32 16.60
1 7.42 7.42 1	6.79 6.79 2 16.46	32.92   4 1.53 6.12	1 8.57 8.57
2 5.48 10.96 1	3.03 3.03 2 3.51	7.02 5 5.00 25.00	4 1.25 5.00
82.57	86.46	49.42 34.82	30.17
Version 22	Version 23 Version VersioNersion Version Version Version Version Version Version Versi	ersion 24 Versio	on 25
4 1.88 7.52	1 1.64 1.64 7	$\begin{array}{c} \hline 1 \\ \hline 8.57 \\ \hline 59.99 \\ \hline 2 \\ 9.9 \\ \hline \end{array}$	
1 8.09 8.09	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	
5 7.03 35.15	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	8.28 8.28 4 4.4	
50.76	21.50	71.01	62.98
			]